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e 1mol(Z;) o —> 659 — N, }
» 3,612 x10%* — n = 6 mol

m
»

n

_3612x10% x65 _
M= 023x% 10232~ 8

ou: n=> =>m=nM=6x65 =m=390g

1 mol (N,OH) 03 —— 409 —— Ny
m > 36,12 x 10 —* n = 0,06 mol

n
m=nM=006x40 > m=24g¢

1mol (C;HgO,) 0 — 1229 — ]\CHEJ.%}
60g —> N > N=296x10 4

e 1mol(H;0) o —»189 —» MNyap
2000g — N }—’ N = 6,69 x 10%° 4
(p=1Kg/L=2L=2Kg=2000 g)

1 1 _
e luma= —mi, = —x1,99x10°23
12 ¢ 12

luma=166x10"%*g
o 1 Lty = L Moz 1 12
uma = oM. = o X5, = 25N,
. L —6,023x10% enité/ mol

1
luma= — = N, = =
Ng A uma 1,66 x 10724

1mol () ¢ — 280 —— N,
m —1,, }—>m:§=>m=4,65x10‘23g

luma — 1,66% }0_24’ g
— 4,65x10°23
m = = m = 28 uma

m T~ 465x1073g =
1,66 x 10724

= m'(S;) = 28 uma

m' = %zM.(ﬁ) = M.uma
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e 1mol(4y) 0 —» 10799 —— N,
10g » N J—7"N=558x10%s2

L=2r,.N=2x(1,44x10719)x 5,58 x10%? = 15,84 x1012m >> L/( v= — L)

;5:'&\ C&Jﬂ‘
e CrOy, 31,6% (O)
M (Cr0y) ——» 52X }
100% —— 684%J —> x= X84 (D)
100x 52
M (CrxOy) ——» 16Y }
1009 — 316g J —> y=2x3L ...
100x 16
X=MX31,6X100X52=1,5 J;_:Q M\h\_}
X 100x16 = Mx684 1)
Y 3 3
—== = Y=-.X apha iy
X~ 2 2 ' #*J
Dl
X 2
Y 3

Cro03 s Sl 0

o FexSyOz n.HZO

100% ——» 20.1% (Fe)
278, 56X (Fe)J —> X= 17
MFeSO4 = 152 g/mOl ‘—‘,—.‘3 FeSO4‘5A ‘—‘SJAM

100% — 116%(S) ) -
278 — 5 32Y (9 — > y=1 L 287g/mol : s S ela sl LS sl

(278 =152+ 18n =n=7)

0, 0
100%  —— 23%(0) FeSO4. 7 Hy0 st wsthaall (S 5l

278 ____, 16Z (©O) J—> Z=4_

100%  ——» 45,3%(H20)}
278 ____, 18n(H0) J—> n=7

;idlﬂ\gg)aﬂ\
2KClO; - 2KCl+30,

2 mol (KC103) — > 3 mol (0,)

n mol » 1L5mol(0;)) —> n= 1mol (KClO;)
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2 mol (KCl03) ———» 3 mol (0,)

2x1225¢ . 3x2241 } VOz = 3,36 (1)
12,259 , VO2
gl eyl
Mw (CaClz) =40 + (35,5 x 2) =111 g/mol
M solut¢ = 53,8 g
M solvant = 100 g = 0,1 Kg
psol = 1,342 g/cm® = 1,342 g/mL = =29 = 1342 /L
M sol = M soluté + M solvant = 53,8 + 100 = m s = 153,8 g
msol msol 153,8
= = V= —=—7== V,,;,=0,11L
Psol Vsol sol D sol 1342 sol
_ Dsoluyte _ M 53,8 _ — ﬁ —

M= Vsoly  MwV  111x0,11 =M=44mol/lL , n= 111 0,48 mol

Nsoluté 0,48
m = = = m =4,8mol/K

msolvant(Kg) 0;1 / g
Nsoluts 100 0,48
Xsolute = %tue »Nsolvant = 18 =556 mol = Xoue = m = 0,08
Xsolvant = 1 — Xsopute = 1 — 0,08 = Xggpyant = 0,02
W(%) = o x 100 = 2% x 100 = W(%) = 35%
solvant )
p gualdd) g el

¢ CH3-CH»OH= M, =(12 x 2)+ 6+ 16 = 46 g/mol, M,,(H,0) = 18 g/mol

n, 70/46

X = = = 0,48
L@rom ~ p, 4, 70/46 + 30/18

X2 (H,0) =1- Xl = 0,52
e  Muw(H2S04) =98 g/mol

Psol = 1,64 g/cm3 = 1640 g/L = o dslsall (v 1L —— 1640 g

Psol = V_ = Mgy = psol.Vsol = 1640 g/LX 1L =1640 g
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100 g (Jstss) ———» 729 (H2SO4) }
1640 g (Jstss) ——» my,so, > mggue = 1180,8¢g

n m 1180
M= V. MyV  98x1(L) = M =12 mol/L
p p p p
d= = = =d=—— = p=dx1000 (g/L
Pems  1Kg/L _ 1000 g/L 1000 P~ X (8/1)
o d X 1000 W% x dx 10 p 1640
M=41% = d= —= ——=1,64
My, M,y 1000 1000
M = [2x164%10 _ 45 mol/l
98
Ngoluté 72/98 1180,8/98

ou

N Meorant(Kg) (100 — 72)x10-3 kg (1640 — 1180,8)x 103

m = 26,24 mol/kg

H,0
HyS0, — 2H* 4S80} ,  ngr =2, N=nguoy-)XM=2x12=24N
Ou:
N = Eq  TNsowee X Nuton-g)  Msotutée X N(u+,0H"6)
Vsol (L) Vsol (L) MW X Vsol (L)
_ 1808 x2 o
98 x 1(L)
72
n
Xi,50, = H;S"‘* = /9288 =032, nyo=1-032=068
t /og +“°/18
_20x118x10 __
B 98 -
n=n2 = NiVi=NV2 o dalal) aast 4y 3 8Y o S8 s
=2CVi=2CV, =V, =22 = 222 = 500 mi (sol diluge)
2 y
VsolvantH20 = Vsor = Vi,s0, = 500 — 100 = 400 ml laall clall paa 8
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